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() aar vd v w=n  (d) W=
() Which content is both intracellular proteins and
extracellular proteins.
(a) Receptors (b) Transport
(c) Antigens (d) Some enzymes
(5) Which is The function of Galgi apparatus —
(a) Labeling and delivery of material
(b) Processing of material
(c) Packaging of materials
(d) All of the above

() How many chromosomes are found in Down Syndrome —
(a) 45 (b) 46
(c) 47 (d) 48

(31) What is apoptosis —
(a) Unprogrammed cell death
(b) Unprogrammed cell Growth
(c) Programmed cell Growth
(d) Programmed cell death
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(c) What is tissue ? Write types of primary tissue
(d) Function of cell membrane
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U9 04 — Explain the transport through cell membran and describe
Active transport ? (10)



